i
I
iy
Tl
P=ai
i

1. ¥4
kG4 BT AR Z[E)I A2 LK thHERD ] S
BT AT IR WL R R TH TS K M 2

2. EHEAR

1) FHEI4

2) JEATHIM

=[EJIZ NE T

183 HFH

H &% 74 87 1H
E S 8% 1H30H

3) PN

4) EBNE

=R oS KN o723 S



TR AR

Tl
P=si

EWA4 | B TR ZENIA STk HERD B B W 3
H H B FH I
THH - TR - R H AL % & 4 %A O ER
i PR ) =X 1 7,713, 360
R & = 1 5, 355, 835
A K v = 1 5,355,835 | {E3EIH
1 =
B oA
11 TR
FEAHRON - fitsdd
1 =
< VT — LG
0.25 km2
T — BT - BT AR
0.25 km2
SWICHITE 7 — # 1EAR oy 1 2,357, 525
ST T — & VERL X 1 2,357,525 | 3RILHIIET — & 1Rk
0.25 km2
Ak
1 =K
HERD R & FAERK
1 K
B2 il X 1 163, 750
B2 il X 1 163, 750
Tees X 1 163,750 | 1A
1 K
R E X 1 257, 103
[EREZES v 1 257, 103

- Etzz@y  AbkEt 5w R



Tl
P=si

=
=

¥4 | AT EE ZEINF LT HERR 3 ER BB
H H EERE
TEHA - LfE - R =AY VA # & A Mo N AR
TR EE =X 26,683 | ik (i E - fHRE)
1 =
%%Eﬁ%ﬂ%{?ﬁi% it: 95, 000 %%E}Z%Dﬁ%ﬁzﬁi%
1 K
25 BR A R AR AR = 135,420 | ZABHH AR S VER
1 K
(X3 Re = 8,134,213
M) = 6, 155, 787
SERR R = 6, 155, 787
W RS oy 14, 290, 000

=R oS KN o723 S



